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ETALEZEAN L EEHRER—ER

FR30%E6A1ARA

SWFETAREEEERZER

BEALEERER

BEAREEREHR

BEALEERER

BEAREEREHR

BT 4 BT 4 BT 4
2 & 5t ] & it ] & 5t L] £ it
AF ERNEF 0 0 0 | KRFKH+ 607 647 1,254
AFFNEF 0 0 0 | R=FEHII 2,970 3,094 6,064
AFTHE 0 0 0 | K=HEH0 0 0 0
= RIET 1,383 1,396 2779 | K=E1TH 537 591 1,128
I=#85TH 1,423 1,428 2851 |[FER=E2TH 109 112 221
=#E6TH 3,737 3,721 7458 |FER=3TH 677 671 1,348
AFIERE 7018] 7182 14,200 |FEAE4TH 393 399 792
AFIa R fE R FT 1170 1266 2436 | KFAFIEAR 0 0 0
AFEX 1,570 1637 3207 | KFAEHEF 0 0 0
KoFIE 251 272 523
AFieEfaEt 196 191 387
RFé] 789 805 1,594
X?E* 1,161 1,225 2,386
RFEFAF 517 558 1,075
RFREAR 2,250 2214 4,464
ARFEFEFHH 280 218 558
RFFEABRR n 69 140
RF EEHARRM 0 0 0
AFAEWES 1,832 1,909 3,741
j$i§ 1,369 1,405 2774
j;:\y"g 893 948 1,841
AFEREHEFTH 454 412 926
7&$1§;4: 12 16 28
AFHERAAFFTH 4 6 10
SAE1TH 39 39 78
SAE2TH 47 39 86
BAR1TH 21 28 55
EAE2TH 51 57 108
ZEAEISTH 84 67 151
TS5 1,469 1,580 3,049
AFEIR 491 485 976
j$£%ﬂ]‘]’ 235 237 472
j$ﬁ§ﬂa,§.;4g 1,144 1,156 2,300
RF B 915 966 1,881
AFERH 437 438 875
o = ] ES 5
= H 36,612 37,604 74,216
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FR30%E6A1ARA

SWEFETILREFEEZAR

BEALEERER

BEAREEREHR

BEALEERER

BEAREEREHR

BT 4 BT 4
E] & 5t E] & st E] & st E] & 5t

AFAE 0 0 0
AFKXR 0 0 0
Dtﬁjzﬂ]]'z;'r ﬁ 2,452 2,485 4’937
HARABI1TH 1811 1874 3,685
iXﬁJZEITZT ﬁ 2,300 2,360 4’660
AFHEE 0 0 0
HAERT1TH 4750 4,006 8,756
HER2TH 6,399 6771 13,170
E| ﬁﬂ]]'sT ﬁ 2,328 2,350 4’678
&5 IET2 T B 2,085 2177 4,262
AFEMEE 0 0 0
=ZEE1TH 4126 4351 8,477
_%WZT ﬁ 2,644 2,489 5’133
=ER3TH 2,791 2,796 5,587
=ZRE4TH 2669|  259| 5259
EHE1TH 2,858 2,616 5,474
EHE2TH 1,745 1,687 3,432
21 Ff BT 2,472 2,536 5,008
=R 3,830 3,811 7,641
WET1TH 2,055 2,109 4,164
HETET2 T B 511 743 1,254
| Z R ET 1,507 1,689 3,196
AFx+ 2 0 0 0
+ 2 HfT 207 216 493
+ 201 TH 2,361 2,441 4802
+2E2TH 2,190 2,208 4398
< T 1,591 1,653 3,244
AF AL 0 0 0
M{{Hﬂ' 4,481 4,640 9,121
FET1TH 0 0 0
RiB1TH 0 0 0

B2TH 0 0 0
Ri83TH 0 0 0

- 5 X &t
= H 60,163 60,598 120,761




ETALEZEAN L EEHRER—ER

. Erk30FE681HIRAE
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EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN EH]' % BEALBEZEREHR EH]' % BEANRBEEREH
] & &t 2 % &t ] & &t ) % &t

KXE6TH 177 181 358 | FHT1TH 144 142 286
KXE7TH 199 212 411 |FHT2TH 115 102 217
JLEET1TH 1277 1332 2,609 | FET3T H 1,004 1,099 2,103
JtEET2TH 1,258 1246 2,504 |:RET1TH 602 633 1,235
EHEET1TH 470 485 955 |FRHET2TH 656 655 1,311
HEET2TH 501 480 981 [#xAHT1TH 529 571 1,100
HEE3TH 519 536 1,055 |#AKBT2T H 628 575 1,203
EHEET4TH 502 556 1,058 |#ABT3TH 532 541 1,073
ZHEET1TH 451 486 937 [#xAHT4ATH 2,456 2429 4,885
ERRET2TH 565 605 1,170 |$5ET 2 2 4
XBE1TH 1,905 1,967 3872 | ARKET1TH 1,796 1752 3,548

BE2TH 2,067 2,097 4,164 | KFEET2 T H 1191 1,188 2,379
JEDQNET1TH 1917 2,006 3923 | AFKEI3TH 1861 1.862 3,723
JEQORNE2T B 684 721 1,411 |#&51871 T B 2,686 2,787 5473
JEORNEIIT B 900 924 1,824 |=#81TH 3,666 3,865 7,531
FHERT1TH 550 601 1,151 E%ZT ] 2,493 2,442 4935
FHERT2TH 1,196 1,383 2579 5*33']' ] 744 690 1,434
S2m1TH 808 854 1,662 |=#84TH 2,223 2,266 4,489
=SE2H2TH 560 585 1,145 | F/NET 4161 4119 8,280
=S2m3TH 260 283 543 | KEMHEI1TH 0 0 0
=SE2B4TH 3 3 6 | AE{FHET2TH 0 0 0
TFE1TH 953 871 1,824 | KE{HEI3TH 0 0 0
TFHE2TH 304 312 616
TFHES3TH 598 555 1,153
=E1TH 7 7 154
=EE2TH 164 161 325
=RI3TH 337 308 645
=EE4TH 429 351 780
=RISTH 324 205 529
AFET1TH 14 12 26
AFET2T H 25 24 49
AFEI3TH 550 581 1,131
HET1TH 26 18 44
HET2TH 35 32 67
{HhEI3TH 208 173 381

o = 5 £ 5
=

A 48,302 48,949 97,251
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RiAEX
SWVEETRAREXEEREESR
B 4 BEALEEREHR B % BEAREEREN B 4 BEALEEREHR B % BEEAREEREN
] ES &t ] 2 it ] E:S it ] - it
KFART1ITH 3503 3534 7,037 [MMAE1TH 2 3 5 |&M2TH 808 776 1,584
KFARI2TH 3173 3326 6,499 |JIAE2TH 2 0 2 |EM3TH 1,106 1,023 2.129
RFH 2 0 2 | KF#EILFH 2 2 4
WHE2TH ! 0 1| KFRIW 2 1 3
1@1{%}3}]‘ 3,384 3,497 6,881 jq:—}:ﬁﬁ; 312 290 602
AFE 0 0 0 | KFEXH 3734 3,935 7,669
%ﬂ]]‘ 2,008 2,087 4,095 jq:-f':;g;'g 4,082 4,188 8,270
ERT1TH 188 192 380 | KFEER 1,723 1,893 3,616
Efr2TH 163 164 327 | K= H P98 1,681 1,651 3,332
BHKRXE1TH 1,288 1,241 2529 | KFHEET 1,380 1,555 2,935
BHKRXE2TH 1,200 1,196 239 |[HET1TH 78 89 167
BHAXE3TH 1,001 1,203 2204 |HET2TH 189 177 366
HKXE4TH 2,190 2208 4398 |HRET3TH 52 51 103
ﬁj{ESTE 1,285 1,247 2,532 j(%"‘—%ﬁi,% 1,253 1,382 2,635
HAXE6TH 1,536 1,482 3,018 | KFEE 299 289 588
BHKXKE7TH 2,068 2,002 4,070 IR{E1TH 590 565 1,155
REFHH 808 813 1,621 iF#E2TH 423 388 811
H'*ﬂﬂ‘ITE 170 182 352 ;;'Eﬂgg‘rg 616 596 1,212
FHi2TH 63 60 123 iIFE4TH 0 0 0
FHIER 8 6 14 |R{E5TH 99 83 182
AFI 230 240 470 [BH1TH 1,490 1,641 3,131
RFES 287 267 554 |EH2TH 270 372 642
$81TH 103 108 211 |EHITH 673 677 1,350
$5X52TH 75 64 139 |&E%H4TH 589 595 1,184
2R/3TH 295 327 622 | KFH 4 469 451 920
KFER#H 1,732 1,883 3,615 |~ U5 HT 1,101 1013 2,114
REFEA 130 128 258 | KFE A 60 A 131
RFHER 2747 2822 5569 |E~RIE1TH 46 55 101
REFEHEH 2900 3,009 5909 |E~&IE2TH 2 4 6
AFEmPH 3783 3929 71712 B4 RE3TH 138 147 285
XFH)I| 3,221 3373 6594 |E~B/IEATH 41 35 76
KEFLOFA 297 327 624 | K=F/INEE 2531 2612 5,143
AFAEILFFHEA 19 17 36 |EIET1TH 0 0 0
AREFEHFEIMFEH 40 30 70 |EIET2T B 13 38 51
KEMAEFHA 1 2 3|EMITH 593 604 1,197
A = 5 4 &t
= A 66,348 68,218 134,566




HTAEZEANBBERER—ER

FR30%E6A1ARA

PREX

SWEFTHRREEEERER

EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN EH]' % BEALBEZEREHR EH]' % BEALBEEREHN
2 & &t ] % &t ] & &t L] % it
RFELES 0 0 0//\FF4TH 238 265 503
LTEE1TH 1,228 1,388 2,616 [J\EF5TH 758 814 1,572
_]-_}'g@z‘r ﬁ 1,523 1,627 3'1 50 J:[ll%‘] T E 726 680 1’406
_]-_}'g@g,‘r ﬁ 901 924 1’825 ng_z'r E 725 728 1’453
+FE&54TH 320 357 677 | LIE3TH 606 552 1,158
_]-_5"5@5']' B 770 740 1,510 J:lll§4T ] 399 395 794
J:;‘"éﬁ‘GT B 1,006 1,001 2,007 |H qu{]ﬁ TH 28 30 58
L%&7TH 1,050 1,149 2,199 |MR2 T B 255 261 516
L%&E8TH 595 685 1,280 |MFIF#R3 T B 97 110 207
+%E9TH 44 476 917 |MMFR4 T B 430 426 856
AFTEE 1,349 1541 2,890 |MBEA5T B 601 598 1,199
T%&2TH 697 747 1,444 |ARFR6 T B 64 65 129
T%&3TH 751 807 1,558 |MBAHE7 T B 230 218 448
T%&4TH 638 625 1,263 [#F1TH 559 583 1,142
'F;"gﬁs‘rﬁ 513 557 1’070 *;E“-T-ZTE 404 406 810
T%&6TH 791 796 1,587 |AETFE1TH 557 525 1,082
T%&7TH 575 580 1,155 | RETFE2 T H 392 422 814
#BA/1TH 72 75 147 | RETFEIT H 726 760 1,486
#BBR2TH 455 457 912 | AETFE4 T H 564 525 1,089
$BA/3TH 953 522 1,075 | RETFES T H 507 550 1,057
#BR/A4TH 1,199 1,240 2439 | AETFE6TH 131 145 276
#HA5TH 476 411 887 |ABTE1TH 444 472 916
$HB6TH 599 579] 1,178 |AEIE2TH 477 472 949
#®A7TH 1184]  1225) 2,409 |ARBIEITH 460 457 917
FHA8TH 426 418 845 | KHTHRATH 746 745 1,491
FHAROTH 128 89 217 |RHETER5TH 685 700 1,385
XFE1TH 896 891 1,787 |ABTH6TH 434 436 870
XF2TH 387 384 771 |AHTR7TH 1339) 1298 2637
XE3TH 476 492 968 |FThE1TH 870 862 1,732
KE4TH 670 690 1,360 | E2TH 548 615 1,163
XE5TH 873 910 1,783 |$hE3TH 630 656 1,286
XF6TH 583 591 1,174 | BEATH 1025 1,086 2111
NEFI1TH 36 44 80 [FHES5TH 895 891 1,786
NEF2TH 395 47 812 |EERiLy 23 31 54
NEF3TH 829 794 1,623
o = ] £ 5
=

A 40,958 42,009 82,967




HTAEZEANBBERER—ER

FR30%E6A1ARA

SWFEMHREEZFEERZER

BEALEERER

BEAREEREHR

BEALEERER

BEAREEREHR

BT 4 BT 4 BT 4 BT 4
] & &t 2 % &t ] & &t ) % &t
| AFradE 0 0 0 |BT81TH 400 367 767 | KFHIIEAR 0 0
#EdE1T B 320 310 630 |ET#&2TH 37 398 769 | XFHFNAEFN 0 0
FEE2T B 938 870 1,808 |ETA3TH 665 580 1,245
FEE3TH 831 817 1,648 BT84 TH 367 312 679
m4j’ g 1,273 1,311 2,584 jQ:‘f_mifg 0 0 0
PEES T H 455 463 918 |BILE1TH 495 506 1,001
|FEE6 T B 882 810 1,692 |BETE2T B 999 1,059 2,058
FEE7TH 1,012 1,006 2018 | KFHE 0 0 0
\FaE8 T H 651 632 1,283 |HE1TH 787 7 1,504
FEEOTH 617 606 1,223 |HE2TH 380 331 711
FEE10TH 303 316 619 |[FE3TH 167 158 325
AFH 0 0 0|E4TH 319 285 604
AFHE 0 0 0 | XFFH 0 0 0
HE1TH 661 671 1,332 |FF1TH 570 498 1,068
HE2TH 563 550 1,113 |FF12TH 775 746 1,521
HE3TH 909 866 1,775 |E#I3TH 699 684 1,383
HE4TH 970 922 1,892 |¥F14TH 491 449 940
HE5TH 558 522 1,080 |FFI5TH 538 526 1,064
HE6TH 1,336 1501 2,837 |6 TH 529 460 989
HE7TH 76 99 175 [ KRFIWAR 0 0 0
HE8TH 254 195 449 [|WAR1TH 367 337 704
HE9TH 231 175 406 [LWAR2TH 491 465 956
Ea %1 OT ﬁ 675 646 1’321 j(E‘f_J:j(ﬂ{% 1,921 1,875 3’796
RFHiH 0 0 0 | KRFTRAR 2,004 1,604 3,608
_%ﬁﬁﬁ‘] T ﬁ 474 464 938 j(?_j(ﬂ{%ﬁi’%‘ 2,536 2,746 5’282
_%ﬁﬁﬁz'r B 210 193 403 jq:‘f_HgEE 2,152 2,056 4,208
HBEASTH 1 13 24 | KF B 3,038 3033 6,071
#EA4T B 0 0 0 | RFHR 169 161 330
RFES 9 4 13 | KFE 213 248 521
ﬁ‘] T ﬁ 282 269 551 j(E‘f‘_ﬂEE] 768 805 1’573
ﬁZT ﬁ 1,247 1,224 2’471 j(:‘f'—i?ﬁji 691 682 1’373
EE3TH 447 384 831 | K=FHAFN 0 0 0
LEH4TH 0 0 0 [BHE1TH 336 344 680
LEH5TH 0 0 0 |#HE2TH 531 52| 1,060
AFHE 2 ! 3 |##@E3TH 167 152 319
o = ] £ 5
= H 40,193 38,953 79,146
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. Erk30FE681HIRAE
SEFIX

SWEFTRREEEERER

BT % BEALZEFEREHY BT % RBEANZEEHREHY BT % BEALZEFEREY BT % RBEANZEEHREHY
E:] = it E:] S it E:] = it 5 S it
EE1TH 623 651 1,274 |#t7 583 TH 659 727| 1,386 |@ii#h2 T H 489 514 1,003
ER2TH 600 626 1,226 |#t5H/4TH 1054) 1369) 2423 B3 TH 736 725 1,461
FEISTH 467 4% 957 | ERIF1TH 1371 1492 2,863 |[AKX1TH 1547 1797 3,344
EEA4TH 969 1,056 2025 | FARIB2TH 933 1,019 1,952 |[AXK2TH 1,169 1,250 2.419
EESTH 557 575| 1,132 | EKIK3TH 743 27| 1,470 |AK3TH 1118)  1158) 2,266
EE6TH 751 67| 1518 | FRIKATH 649 654 1,303 |AK4TH 692 747] 1,439
EE7TH 895 932| 1,827 | L RIGSTH 522 57| 1,079 |AK5TH 905 944 1,849
E ) 1,088 1,140 2228 | FAIB6TE 997 1,049 2046 |THT1TH 1,070 1,109 2.179
=#1TH 198 249 447 | ERIB7TH 487 538 1,025 |TTHT2TH 1,364 1,505 2,869
=f2TH 297 363 660 | FRKIESTH 236 246 482 |TtET3TH 749 816 1,565
EE’}GT B 471 491 962 | KIZ1TH 550 556 1,106 xi‘] TH 1,239 1,286 2525
E@4T§ 666 725 1,391 Kig2TH 688 688 1,376 xiz'rg 775 841 1,616
Ex=tNi 732 769 1501 | KIE3TH 286 291 577 | KE3TH 577 629 1,206
{HET1TH 559 663 1222 | KI54ATH 723 752 1475 | K==1% 4 7 1
HET2TH 654 726 1,380 | KIS5TH 878 940 1.818 |#BE1TH 481 507 088
{HEI3TH 664 716 1,380 |$BR1TH 744 783 1,527 |#BE2 T H 697 720 1417
HET4TH 709 782 1,491 482 TR 487 468 e 795 883 1678
R AT 1,277 1,378 2,655 |fER3TH 774 784 1,558 iE#N{hET1TH 0 0 0
=HE1TH 1,076 1,127 2,203 |fER4TH 592 638 1,230 @fn{hET2TH 0 0 0
EE2TH 876 959 1,835 |$ER5T H 491 536 1,027 (HF{HET3T B 0 0 0
w3 TH 1,362 1475 2837 |4BX6TH 883 889 1,772 @b BT4 T B 0 0 0
HHE4TH 645 708 1,353 |fBR7TH 987 1067 2,054
HHE5TH n3 810 1,523 #4751 TH 692 747 1,439
HH#6TH 508 493 1,001 |#E~ 52T H 813 846 1,659
EH#7TH 541 591 1,132 |#~ 53T B 518 615 1,133
HHE8TH 432 488 920 |#E~IZ4 T H 696 789 1,485
HHE0TH 1259 1288 2,547 |HE~ 35T H 801 848 1,649
®H#210TH 1,281 1380 2,661 |Ei51TH 710 724 1,434
dviEFn1 T B 1,217 1,358 2575 %%ZTE 88 100 188
dviEFn2 T B 979 1,038 2017 | KE1TH 290 326 616
JLHEFSTH 1,031 1158 2,189 | KIE2TH 180 212 392
JtiEf4TH 158 7 335 | KE3TH 10 9 19
JLHEF5TH 1,852 1624 3,176 | KIF4TH 12 0 12
sty B/1TH 796 827 1,623 | KIES5TH 0 0 0
#H582TH 1,074 1,108 2,182 |1 TH 980 1,036 2016
o = 5 x &t

= A 63,603 68,163 131,766




HTAEZEANBBERER—ER

TH30E6A 1 AR
X
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BT % BEAZEFEREEHR BT % BEAZEEREY BT % BEAZEFEREEHR BT % BEAZEFEEHRER
E ES it E S it E ES it E S it
A58B1TH 1035 1078 2113 |BIFFATH 290 294 584 |NA5TH 1001 1046 2,137
A882TH 847 790 1.637 |RIFF5TH 519 541 1,060 |AA6TH 1113 959 2,072
EEM1TH 1,241 1218 2459 |RIFR6 T 755 682 1437 |HA7TH 674 666 1,340
EEH2TH 1515 1511 3,026 |RIFR7 TE 1,379 1,409 2,788 |MA1TH 643 635 1.278
EEH3TH 2,940 3,031 5971 |[4BE1TH 817 818 1,635 [TAA2TH 582 533 1.115
BLEFI4TH 98 92 190 |[1RF2TH 700 681) 1,381 |IA3TH 589 540 1,129
KEKHEE 3,702 33815 7517 |[4BE3TH 957 934 1,891 |FART1TH 438 501 939
AHZE2TH 803 872| 1,675 [#BE4TH 545 514] 1,059 |EAR2TH 826 836) 1,662
KHZEATH 768 795 1563 |15 TH 1,397 1,525 2922 |#BA1TH 440 435 875
KXHZESTH 1,217 1213 2430 |{B21TH 3,066 3,150 6.216 |#BA2TH 195 183 378
KERAD 6,780 7041 13821 [;B22TH 711 718 1,429
KEMEE 1,045 1,026 2071 |{B23TH 0 0 0
KELESAE 939 984 1,923 |81 TH 234 205 439
BiE1TH 482 352 834 B2 T H 287 258 545
HiE2TH 473 435 908 |[EEFER1TH 498 524 1,022
BIE3TH 1,092 1,154 2246 |BEER2TH 450 441 891
BiEATH 1,762 1,775 3537 |BEER3TH 779 749 1,528
HIE5TH 1,049 1,071 2120 |BEERATH 992 981 1,973
BiE6TH 1100]  1044) 2144 |[BEFH5TH 1057 93| 2040
$1TH 1,197 1,151 2348 |BEER6TH 928 881 1,809
st2TH 981 950 1,931 [BEFR7TH 969 933 1,902
$3TH 781 800 1,581 | K244 0 0 0
t4TH 1,008 934 1,942 [IMKR1TH 745 mn 1,462
5TH 736 73] 1,449 |AK2TH 530 505| 1,085
$6TH 276 292 568 |#AA3TH 600 559 1,159
+7TH 749 714 1,463 |¥AX4TH 530 470 1,000
$8TH 1,037 1,084 2121 |BAAR1TH 651 624 1.275
XE1TH 957 936 1,893 |ghA2TH 739 698 1.437
XE2THE 1,300 1,258 2558 |BIA3TH 665 647 1,312
XESTH 1,656 1,555 3211 |giAATH 691 573 1.264
XE4TH 1,148 1,132 2280 |HIASTH 738 683 1,421
XE5TH 1,164 1,121 2285 |AA1THE 269 261 530
RIFF1TH 558 574 1.132 |HA2TH 403 387 790
RIFF2TH 1,052 1123 2175 |RA3THE 778 681 1,459
RFF3TH 1,123 1,151 2274 |[RAB4TH 804 761 1,565
A = 5 £°8 &t

H H 76,675 75,906 152,581
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FR30%E6A1ARA

=
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EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN BEALBEZEREHR EH]' % BEANRBEEREH
] & &t 2 % &t ] & &t ) % &t
AHE1TH 1,262 1,283 2545 | KFRE 12 9 21
AHESTH 753 734 1,487 [ILIE1T H 537 433 970
AFAAO 75 94 169 | KFE# 0 0 0
ﬁll” T ﬁ 1,403 1,453 2,856 j(E‘f‘_%j'{_g 0 0 0
ﬁUJZT ﬁ 1,472 1,525 2’997 jQ:‘f'_jQ,E 0 0 0
FEW3TH 689 782 1,471 |[BRAF1TH 104 120 224
E4TH 1,527 1641 3,168 [ APF2TH 653 654 1,307
RFEFE 5876 6164) 12,040 [ KPFISTH 619 554 1,173
ARFAMA 3,362 3419 6,781 |EE1TH 542 587 1,129
RFAEK 991 1,042 2,033 |Ei182TH 641 635 1,276
AFEFLO#HHE 132 144 276 |[MAKR1TH 442 478 920
AFERFH 0 0 0 |#AK2TH 466 485 951
RFE=ZF 6,527 6926) 13453 [MAK3TH 733 718 1,511
EHE1TH 428 490 918 |BEM1TH 495 539 1,034
EHET2TH 431 482 913 |Hi#EM2TH 2136 2018 4,154
E#EL3TH 262 309 571 |BGHFISTH 1139 1,190 2,329
EHET4TH 789 770 1,559 |BiEMATH 846 827 1,673
RFXIF 472 395 867 |BUEIIS T H 702 753 1,455
AFEEpeEst 260 250 510 |BEM6 T B 609 613 1,222
AFhEH 218 194 412 |BGEM7TH 1,096 1,195 2,291
KFELHHA 346 260 606 |BHEIIST B 566 629 1,195
AFE 1 45 46 91 |BHFIOTH 483 521 1,004
RFELIL 242 227 469 |EZE1TH 90 105 195
RFFIL 108 104 212 |EE2TH 28 2 52
RFAM 3,193 3219 6412 |XE3TH 238 208 446
RFdblR 38 44 82 |XEA4TH 1188 1,160 2,348
ARFHE=E 379 357 736 |XE5TH 567 570 1,137
X?TE}ZE 313 303 616 %@GTE 278 263 541
AFREIH 87 7 164
EA1TH 403 396 799
=A2TH 624 642 1,266
ZE1TH 385 412 797
ZE2TH 381 392 773
ZE3TH 701 734 1,435
KE=H 0 0 0
A = x &t
= H 49,384 50,658 100,042




HTAEE AN B EEHRER —ER

TER30%E6A1ARAE

B
SWV-FEMEREKEFEERER
B 4 BEALCEEREY B % BEALBEREY B 4 BEALCEEREY B % BEALBEREY
2 E:S &t g & &t 2 E:S &t g oS &t
KEER 1,945 1,909 3854 |FEET1TH 371 385 756 |[ERT 421 405 826 | KFEHEH 127 125 252
AFAH 0 0 0 |FEET2TH 637 667 1,304 | KFERIR 734 680 1414 | KFEHF 601 633 1,234
AH1TH 424 449 873 |FEET3 T H 457 447 904 | KFEH 696 676| 1,372 | KFEA 486 475 961
AH2TH 421 424 845 |FEET4A T H 614 611 1,225 | KFHEAR 419 384 803 | FE1TH 317 321 638
AXH3TH 41 40 81 [FRET5 T H 616 610 1,226 | KFHEARHH 222 195 417 | LB2TH 270 271 547
AHN1TH 585 579 1,164 |SEHRT 436 423 859 | KEETHH 516 525 1,041 |E;EF1TH 236 243 479
AN2TH 337 349 686 | B & BT 692 685 1,377 |[KFHE 128 115 243 |2 T H 135 148 283
AN3TH 504 521 1,025 |E==0T 597 600 1197 | KERHIG 353 333 686 |ZHE3TH 794 1,105 1,899
AN4TH 377 387 764 |=BT1TH 365 443 808 | KEFE~IGHHA 18 20 38 |iHiH4TH 311 390 701
PAT1TH 373 376 749 |=RI2TH 1,059 1,019 2078 | KFEHE 245 239 484 |iHEE5TH 193 192 385
HET2 T H 327 301 628 | XFREFEHF 24 29 53 | KF#.E#H 698 665 1,363 |FAEW1TH 250 261 511
HHN1TH 206 193 399 |BIEE1TH 282 302 584 | KEFHE 129 115 244 |EHEH2TH 124 135 259
FFR2TH 451 463 914 |FEEH2TH 282 318 600 | KFEEER 232 198 430 |EEH3TH 234 229 463
HN3TH 6 3 9 |FEH3ITH 380 371 751 | KEXHA 743 692 1,435 |BEEHATH 514 510 1,024
HN4TH 175 172 347 | EEH4TH 303 281 584 | KFHEEE 535 47 1,006 |EEHSTH 363 331 694
WEg1TH 439 447 886 |FIEE5TH 102 86 188 | KFE/NE 1,356 1,316 2672 |EEH6TH 283 264 547
WEg2TH 253 257 510 | KFES 283 264 547 | K H 890 869 1,759 |EE®E1TH 338 340 678
WE3TH 216 229 445 | KFKRHE 148 129 277 | KFREEF 858 863 1,721 |XEHE2TH 437 423 860
WEg4TH 455 372 827 | KFH#ER 183 234 417 | KEFT 252 262 514 |ZE®E3TH 229 219 448
WE5TH 617 592| 1,209 |KFXO 165 174 339 | KF L& 310 287 597
HAR1TH 706 76| 1422 | KFAR 131 132 263 | L1 TH 444 462 906
HAR2TH 618 637| 1,255 |[KFKF 264 237 501 | 82T H 196 168 364
i) 660 593 1,253 | KFHAEE 107 100 207 | FEF3TH 82 63 145
BEE1TH 406 380 786 | KXF KT 51 47 98 | L84 TH 8 o 17
BmEE2TH 351 355 706 | KFIE 54 56 110 | EE5TH 0 0 0
AB1TH 324 300 624 |MNE1TH 581 576| 1,157 | LH6TH 202 184 386
AE2TH 423 427 850 |ME2TH 315 356 671 | KFETI5 244 284 528
ABI3TH 297 314 611 |MNE3TH 34 28 62 |H47i51TH 10 6 16
ABT4TH 413 462 875 [fEZ4TH 616 550 1,166 |5 /7352 T H 18 13 31
ABISTH 302 309 611 |MNES5TH 503 472 975 | KFHHEFIR 62 70 132
AEI6TH 319 358 677 | KFH#IR 224 219 443 | KFEEEF 820 788| 1,608
{HBI1TH 611 611 1,222 | KFEEF 142 171 313 [ KFEE 562 450 1,012
HhET2T B 531 544| 1,075 | KF1alE 374 341 715 | KF# 386 362 748
HET1TH 513 494 1,007 [KFES 550 553| 1,103 | KF&E 518 517) 1,035
HET2TH 364 366 730 |[XFA/ T 2 58 130 | KFARTE 685 6%| 1,381
- B ES i
= A 47,238 46,906 94,144




